
 
VYSOKÉ UČENÍ TECHNICKÉ V BRNĚ 
FAKULTA PODNIKATELSKÁ 
Přijímací řízení 2013 
Bakalářské studijní programy:      
Ekonomika a management  
Systémové inženýrství a informatika    
Kvantitativní metody v ekonomice 
 

ZÁZNAM ZKUŠEBNÍ KOMISE 

Počet bodů 
 

Za správnost předseda komise: 
 

 
Jméno a příjmení podpis 

 
Varianta:                  1311  TEST Z ANGLICKÉHO JAZYKA                    3 strany – 1. strana 

 
INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. 
Svou odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li 
odpověď změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí 
jedním bodem, žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet 
dosažitelných bodů je 25. Na provedení testu máte 20 minut. Při testu nelze používat žádné 
podpůrné materiály ani jakákoliv elektronická média. Lze používat pouze psací potřeby.  
 
 
Choose the best option. 
 
1. Which word has a different sound?  

A 
 (A) owned (B) ground (C) drowned (D) sound  
 
2. We don’t have ....... paper left. Can you order some more?  

C 
 (A) many (B) a more (C) much (D) a lot  
 
3.   Would you like to try the shirt on? The ........ changing room is over there.  

B 
 (A) men  (B) men’s              (C) mens’   (D) man’s  
 
4. We stopped at a small village ......... the way to London.  

A 
 (A) on (B) at (C) by                             (D) into  
 
5. ............... can answer the question, you needn’t answer in turn.   

D 
 (A) Some  (B) Every (C) No of them (D) Anybody   
 
6. The students failed at the exam. – Well, ............  try it once more.  

B 
 (A) let they  (B) let them  (C) let students to (D) let them to  
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7. Notebook computers .......... cheaper and cheaper these days.  

A 
 (A) are getting (B) get (C) are got (D) getting  
 
8. Simon speaks German very ........... .  

C 
 (A) bad (B) good (C) well (D) goodly  
 
9. He ........... Mr. Davies at the conference last week.  

D 
 (A) hasn’t meet (B) didn’t met (C) hadn’t met (D) didn’t meet  
 
10. Where would you hear this sentence: “Did you pack this bag yourself?”  

C 
 (A) in a taxi  (B) in a hotel (C) at an airport  (D) at a station  
 
11. He has no money left. He ............ find a job.  

A 
 (A) ’ll have to (B) will must (C) is able (D) will has to  
     
12. Long dresses are in ...... again.  

B 
 (A) form (B) fashion (C) craze (D) mode  
 
13. I  ......... a prize in my life.  

C 
 (A) never won (B) didn’t won (C) ’ve never won (D) had never win  
 
14. Samantha arrived at the airport with someone. – Who .......... at the airport with?  

D 
 (A) did arrived (B) she did arrived (C) arrived (D) did she arrive  
 
15. Oh, dear. Look at the sky. It ............... .  

D 
 (A) rains (B) is going rain (C) will raining (D) ’s going to rain  
 
16. Steve couldn’t get into the house because he .......... his key.  

C 
 (A) lost (B) had lose (C) ’d lost (D) has lost  
 
17. Do you remember ........... me for the first time?  

B 
 (A) to meet (B) meeting (C) meet (D) met  
 
18. Although our opinions on many things .................... , we’re good friends.  

D 
 (A) divide (B) oppose (C) disagree (D) differ  
 
19. We’re going to wait until he ..................... .  

C 
 (A) doesn’t phone (B) won’t phone (C) phones (D) will phone  
 
20. I felt something ........ me on the head and everything went  black.  

D 
 (A) hiting (B) hitted (C) to hit (D) hit  
 
21. I can’t use my car this week. It ................ .   
 (A) is being repaired (C) is repairing  

A 
 (B) is been repaired (D) being repairing  
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22. Find a similar phrase: I have a really busy schedule.   
 (A) I’m busy next week. (C) How long will that take?  

B 
 (B) I’m very short of time. (D) I can’t make it at 10:30.  
 
23. Which sentence has a different meaning from the others?   
 (A) The train was full. (C) The train was crushed.  

C 
 (B)  The train was crowded. (D)  The train was packed.  
 
24. I won’t come tonight unless I ........... a baby-sitter.  

B 
 (A) won’t find (B) find (C) will find (D) don’t find  
 
25. If a child is afraid of a spider, his mother might say: ................................. .   
 (A) It won’t damage you. (C) It won’t spoil you.  

D 
 (B) It won’t ache you. (D) It won’t harm you.  
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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. 
Svou odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li 
odpověď změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí 
jedním bodem, žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet 
dosažitelných bodů je 25. Na provedení testu máte 20 minut. Při testu nelze používat žádné 
podpůrné materiály ani jakákoliv elektronická média. Lze používat pouze psací potřeby.  
 
 
Choose the best option. 
 
 
1. Which word has a different sound?  

D 
 (A) sew (B) blow (C) owe (D) allow  
 
2. They have ........ ideas, but not enough time.  

C 
 (A) lots               (B) a little (C) plenty of              (D) much  
 
3. There are really no boys. This is a ............ school.  

A 
 (A) girls’  (B) girl’s (C) girls (D) girl’  
 
4. There were a lot of people ...... the concert.  

B 
 (A) on (B) at (C) for (D) by  
 
5. Don’t be afraid, there is ......... dog in the garden.  

C 
 (A) any (B) none (C) no (D) some  
 
6.    The dictionary is very expensive.  Please .............. on the table.   

D 
 (A) don’t let it (B) let not it leave  (C) leave it not (D) don’t leave it  
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7. Lucy ............ in the States till July.  

B 
 (A) works (B) is working (C) work (D) working  
 
8. The plane climbed ............. into the sky.  

C 
 (A) highly (B) height (C) high (D) tall  
 
9. We advertised the car but nobody .......... it.  

A 
 (A) wanted (B) had wanted  (C) have wanted (D) want  
 
10. Where might you hear or say this sentence: “Does the price include service?”  

C 
 (A) at an airport (B) in a taxi (C) in a restaurant (D) in a shop  
 
11. You ............. leave, you can stay if you like.  

B 
 (A) mustn’t  (B) don’t have to (C) couldn’t (D) are able  
 
12. Those new dresses may be striking, but that sort of  ......... doesn’t suit everyone.   

D 
 (A) mood (B) form                      (C) model (D) fashion  
 
13. I don’t think we ............... .   

C 
 (A) did ever meet (B) had ever met (C) have ever met (D) ever met  
 
14.   Jill talked at the corner to someone. – Who ............ at the corner to?  

B 
 (A) did talk (B) did she talk (C) talked she (D) did she talked  
 
15. The bus has broken down so it ............ late.  

D 
 (A) will going (B) going to be (C) is going to (D) ’s going to be  
 
16. Richard .......... there long before the trouble started.  

D 
 (A) has been (B) had be (C) was (D) had been  
 
17.  I’ll never forget ............ the Nile for the first time.  

B 
 (A) see (B) seeing (C) to see (D) seen  
 
18. Why didn’t you ..................... that you were feeling ill?  

D 
 (A) tell (B) advise (C) remark (D) mention  
 
19. Remember to call me before you ............... .  

A 
 (A) come (B) will come (C) coming (D) ’re going to come  
 
20. The company doesn’t let its employees ......... paid holiday in June.  

C 
 (A) to take (B) taking (C) take (D) taken  
 
21. The contract ........... this morning in Brussels.  

A 
 (A) is being signed (B) be signed (C) is been signed (D) is signing  
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22. Find a similar phrase: I’m ready now.    
 (A) Shall I start? (C) Can I speak to Sally, please?  

D 
 (B) Just a moment. (D) OK, go ahead.  
 
23. Which of these sentences is wrong?   
 (A) He booked in. (C) He is booked up.  

B 
 (B) He booked down. (D) He booked the seats.  
 
24. We’ll miss the train if you .............. !  

C 
 (A) won’t hurry (B) hurry (C) don’t hurry  (D) are hurrying   
 
25. Which question is correct if you want to pay to the London taxi-driver?   
 (A) What’s the bill? (C) What’s the fee?  

D 
 (B)  What’s the sum? (D) What’s the fare?  
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INSTRUKCE 

 
Test obsahuje 25 otázek s alternativami odpovědí (A), (B), (C), (D), z nichž je jediná správná. 
Svou odpověď zapište odpovídajícím písmenem do příslušného rámečku vpravo. Chcete-li 
odpověď změnit, požádejte člena komise o parafování změny. Správná odpověď se hodnotí 
jedním bodem, žádná nebo nesprávná odpověď žádným bodem, tj. maximální počet 
dosažitelných bodů je 25. Na provedení testu máte 20 minut. Při testu nelze používat žádné 
podpůrné materiály ani jakákoliv elektronická média. Lze používat pouze psací potřeby.  
 
Choose the best option. 
 
 
1. Which word has a different sound?  

B 
 (A) force (B) worse (C) source (D) horse  
 
2. We have ...........work to do.  

A 
 (A) a little  more (B) a more  (C) a few (D) many  
 
3. That .......... is very big.   
 (A) child’s woman (C) childs’  woman  

D 
 (B) women’s child (D) woman’s child  
 
4. Brighton is ....... the south coast of England.  

C 
 (A) by (B) beside (C) on (D) in  
 
5. She says she can’t give us ......... advice. She’s never been to Paris.  

A 
 (A) any (B) no (C) some (D) none  
 
6. Aunt wants to have a look at your beautiful ring. OK, ........... a look at it now.  

D 
 (A) let she has (B) let her to have (C) let aunt to have (D) let her have  
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7. Sam and I ........... more healthily these days.  

C 
 (A) eat (B) am eating (C) are eating (D) is eating  
      
8. Nora is a good driver. She always drives ............ .  

B 
 (A) careful (B) carefully  (C) cautious  (D) fastly  
 
9. As I .......... in, he jumped and shook my hand.  

C 
 (A) had walked (B) walk (C) walked (D) have walked  
 
10. Where might you hear this sentence: ”Has anyone given you anything to carry?”  

D 
 (A) in a hotel (B) in a taxi (C) at a station (D) at an airport  
 
11. You ......... eat these berries. They might be poisonous.  

C 
 (A) needn’t (B) aren’t able to (C) mustn’t (D) aren’t allowed  
 
12. The most expensive ........ coats are made of mink.  

B 
 (A) feather (B) fur (C) hair (D) skin  
 
13. “Jonathan, I ......... your briefcase.” – “Thanks. Where did you find it?”  

D 
 (A) finded (B) have find (C) found (D) have found  
 
14. Sheila went to the cinema with someone. – Who ............... to the cinema with?  

A 
 (A) did she go (B) went (C) did she gone (D) did go  
 
15. Can I have your credit card number? I .......... the tickets later.  

D 
 (A) book (B) ’m booked (C) will booking (D) ’m going to book  
 
16. The thief ........... by the time the police arrived.  

C 
 (A) has gone (B) went (C) had gone (D) gone  
 
17. My friend is giving up .............. at last.  

A 
 (A) smoking (B) to smoke (C)  be smoking (D) smoke  
 
18. Sue enjoys science lessons, but all her experiments seem to .................... wrong.  

B 
 (A) turn (B) go (C) end (D) come  
 
19. Let’s  play until  it ................ dark.  

D 
 (A) won’t get  (B) doesn’t get (C) ’ll get (D) gets  
 
20. Hot weather makes me ........... tired.  

C 
 (A) feeling (B) to feel (C) feel (D) felt  
 
21. But the bill ................... !   
 (A) has already been paid (C) has already be paid  

A 
 (B) was already been paid (D) is already  paying  
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22. Find a similar phrase: Are you ready?   
 (A) Anything else? (C) Hang on.  

B 
 (B) Shall I start? (D) Just a moment.  
 
23. Which sentence is wrong?   
 (A) In my view, you’re right. (C) My belief is that you’re right.  

D 
 (B) In my opinion, you’re right. (D) To my thought, you’re right.  
 
24. Unless I ....... my wallet, I won’t go shopping.  

A 
 (A) find (B) won’t find (C) don’t find (D) will find  
 
25. Which can’t you blow?  

D 
 (A) a trumpet (B) a kiss (C) bubbles (D) candle  

 
 
 
 
 
 
 
 
 
 
                          


